Question 1
A bucket-shaped container has a circular base of radius 10 cm, and its slant height is 30 cm. the radius of the open circular top of the container is 10x cm. the curved surface of the container is modeled by part of a cone, as shown below.
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The capacity V (x) litres of the container is given by,
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1)


Explain why the condition 
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 is placed on the applicability of the formula for V (x).

2)

Sketch a graph of the function V(x).

3)

Find the maximum possible capacity of the container, according to the model. 
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